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@solver

def direct(ps : Set[Particle]):

def direct(ps : Set[Particle]): N = len(ps)
for pi in ps: for i in range(N):
for pj in ps: for j in range(i+1,N):
if pi != pj: gravity(pj,pi); gravity(pi,pj)

gravity(pj, pi) # gravity_mutual(pj, pi)
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diz = def gravity_mutual(p1, p2):

r = [0.0 for _ in range(D)]

r2 = 0.0

for i in range(D):
r[i] = p1.x[i] - p2.x[i]
r2 += r[i] * r[i]

r3 = r2 * sqrt(r2)

for i in range(D):
da=G*pl.m/ r3 *r[i]
da=G*p2.m/ r3* -r[i]
p2.a[i] += da
pl.a[i] += da
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@kernel(D=int)
def gravity(p1, p2):
r = [0.0 for _ in range(D)]
r2 = 0.0
for i in range(D):
rfi] = p1.x[i] - p2.x[i]
r2 += r[i] * r[i]
r3 =r2 * sqrt(r2)
for i in range(D):
da=G6*pl.m/ r3 *r[i]
p2.a[i] += da

def direct(ps : Set[Particle]):
vps: Set[VParticle] = convert(ps, W)
for i in range(len(vps)):
for j in range(i+1, len(vps)):
for _ in range(W):
gravity_mutual(vpjl[jl, vps[il])
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